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A man was assigned to find the average age of
a class of 13 students. By mistake, he included
the 35 yr old teacher as well and hence the

average went up by 2 yr. Find the actual average
age of the class.
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Section 1 - Paperl-English Language

No. of Questions: 10

Passage Questions (1-5):
Read the passage and answer the questions that follow:

‘That is true,” answered Sador; ‘true at least of some of us. But the up-climbing is painful, and from
high places it is easy to fall low.’

At this time Turin was almost eight years old, in the month of Gwaeron in the reckoning of the
Edain, in the year that cannot be forgotten. Already there were rumours among his elders of a
great mustering and gathering of arms, of which Turin heard nothing; though he marked that his
father often looked steadfastly at him, as a man might look at something dear that he must part
from.

1) Who turned eight years old?

saweon Tachofworld.In
C) Sador.
D) Edai.

2) How did T urin's father look at him?

A) With pride and love.

B) As something he must part with.

C) As a child who will save the kingdom.
D) As a child who deserved much more.

3) What was difficult according to Sador?

A) Getting down.

B) Reaching the camp.
C) Fighting the war

D) Up climbing.

4) What were the rumours about?
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A) Gathering of armies.
B) Gathering of arms.
C) Mustering courage.
D) War in the kingdom.

5) What difference did T urin see in his father?

A) He began talking about the war.
B) He stopped talking at all.

C) He looked steadfastly at him.

D) He gathered arms.

6) Fill in the blank with the correct option:

It is not to discriminate people who are not with complexion .
vee Techofworld.|

B) fare, fare e C O O r D n

C) fare, fair

D) fair, fare

7) Which of the following alternatives best suits the meaning of the idiom "Kill someone with
kindness"?

A) Be kind to someone

B) Initiate to stop kindness

C) Spoil someone by overindulging in them
D) Praise someone with kind words

8) Fill in the blank with correct prefix or suffix:

It is difficult to sustain your business by holding on to dated equipment.

A) up
B) out
C) pre
D) post
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9) Which of the following words is correctly spelt?

A) cencus
B) census
C) sensus
D) censious

10) Who is called as a person alternately displaying opposing good and evil personalities?

A) Jack and Jonas TeChOfWO rld . I n

B) Tom and Harry
C) Ram and Rahim
D) Jekyll and Hyde
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Section 2 - Paperl-Education and General Awareness

No. of Questions: 5

11) Which of the following animals does NOT lay eggs to give birth to its young ones?

A) Crow

B) Penguin
C) Kangaroo
D) Lizard

11) QINYS AT AUQ 6966 IR FRNIRG VG 696! QIR 2 6QQRAIN ?

v Techofworld.In

12) Who, in the Indian administrative system, is called the ears and eyes of the Prime Minister in
India?

A) Cabinet Secretary
B) Vice-President

C) Chief Justice of India
D) Home Minister

12) @iaeia galade e4egisa QILIG QuIRARIE QI 6 21T QRIa ?

A) 94Id6a¢ A5

B) @aqiga®

C) ®19eQ QIR §9I0ad
D) qeaat

13) The National Assessment and Accreditation Council (NAAC) was established as an autonomous
institution of the -

A) Central Advisory Board of Education
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B) National Board of Accreditation
C) National Council for Teacher Education
D) University Grants Commission

13) 21619 gRUIaR 96 AQE 08aQ (YRIYT) YRR IR AXCIFG AQAR NLER 9OFO 6N -

A) 69210 881 QU6QY! 6916
B) ®I61a A1g8 6QI¢

C) S1619 2IaR d8l 0daQ
D) S4Uea 2R A6aIS

14) In one of the Government's initiation, what is the abbreviation of NLM

A) National Literacy Mission TeCh OfWO rld o I n

B) National Law Mission
C) National Legal Mission
D) National Labour Mission

14) qesies ARAIFYER IR 1R 92IQ Tigead 26T

A) 62491R MEe6ad fan
B) 6049IR M dan

C) 6249In AR Aae

D) 624QIR 6RQQ dae

15) The National Scheme of Incentives to Girls for Secondary Education (2008) sponsors eligible
girls with a sum of

A) ¥ 5000/-
B)  4000/-
C)  3000/-
D)  2000/-

15) aiR@iaes ald QAR 4810 RI91A 6gIALR 6AIRAI( 9 0olN) 6QIGY ARIAAILE FEAIFE Id 6QRAN

A) X 8ooo/-
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C) X qoo0/-
D) X 9000/-
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Section 3 - Paperl-Reasoning
No. of Questions: 5

16) Which letter will be midway between 4th letter from the right and 10th letter from the right, when
alphabets are arranged in the alphabetical order?

A) S
B) T
C)U
D)V

16) 6a60696@ od%l@g daiRl @aca ael JQ, QIR 698 28R I QIRIIQ Q4N ATAR AN 60 2800 02 ?

s Techofworld.In
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U
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17) In a certain code language, if the word CAREFUL is coded as LCUAFRE, then how will the word
BENEFIT be coded in that language?

A) TBEEFIN
B) TBIEFNE
C) TIBEFNE
D) TBIFNEE

17) ge 348 saie wiaisa, 9@ CAREFUL e LCUAFRE aiesa saie 62108, 6062 622 aisisa BENEFIT 4eG @ &ad
6ele QAU I ?

A) TBEEFIN
B) TBIEFNE
C) TIBEFNE
D) TBIFNEE

18) In the following questions, mark:
1, if statement | alone is sufficient to answer the problem.
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2, if statement |l alone is sufficient to answer the problem.
3, if statements | and Il both taken together are sufficient to answer the problem.

4, if statements | and |l taken together are NOT sufficient to answer the problem.

How old is James now?
I. 10 years ago James's age was 1/3rd of the age of his sister Margaret.

Il. The age difference between James and his sister Margaret is 20 years, Margaret being elder to
him.

»+ Techofworld.In

C)3
D) 4

18) GOIRYC 999eeea 536 @09 :
2. 98 QA | anaiie AAR 62Ig A6 AT |

a6 Q94 |1 9gdal anaia AR ceelg a6 26T |
M. 96 Q4 | ver || a0g IRI0 GBS 6060 ANAIQ AN 629 Al AHY 266 |

¥. 26 Qa8 | 9& |l anag 910 FuIde 6068  anAia QAR 609! AlE adug Q6% |

6871QE QOFIR 99Q 6666 ?
l. eo @d g6 6RFIYR 99Q GIF NQE1 AIFIEASE @DAQ IR QE1ArE 8wl |

Il. 62F1Q e oIF fRd AIFIEREE AAR AN 6208 90 @d, AIGIEAE SIFOIQ @@ |

>

2080 .2
X 8 wvw ~n
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19) Balbir travels 20 km north, then he turns right and travels 20 km. Then he travels 10 km north-
east and turns right and travels 20 km. Then he again turns right and travels 20 km. Finally, he turns
left and travels 20 km. In which direction is Balbir facing finally?

A) South-east
B) North-east
C) South-west
D) North-west

19) 2RQ1a QAR 90 FEANCA AIQI F0B3, GIA6R 6Q FIAEY 97 90 FEAIFCR AIGI 293 | GIAER 6Q ¢ 0 FATCR AAR-QS 96Q

AIQl 202 Q° QIRIEIR QA 90 REAIFCQ AIQI K3 | q€1 64 QIR16g 2R 90 RERAINTA AIQI Q3 | 64T6Q, 6Q QAR 2R 90 FERAIATR
QG KO3 | 69960 PAQ 604 FA6Q L FARS ?

v Tachofworld.In

B) aea-q¢
C) @84-a4q

D) eaa-ada

20) In the following questions, mark:
1, if statement | alone is sufficient to answer the problem.

2, if statement Il alone is sufficient to answer the problem.
3, if statements | and Il both taken together are sufficient to answer the problem.

4, if statements | and Il taken together are NOT sufficient to answer the problem.

What is the average age of A, B, C, D and E?
I. Sum of the ages of A, C and D is 120 years.
II. Sum of the ages of B, D and E is 150 years.

A) 1
B) 2
C)3
D) 4

20) FINYS 999896 836 @09 :
0. 96 9QQ4 | anaa QAR 6a9Ig A62a 26T |
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9. 2@ QA4 |l b anaie VAR caeIg A6a8 6T |
q. 28 Y4 | v |l aeng 9eI0 F218e 6069 ANAMIR AR 629! Al ATHF 26 |

¥. 90 Q94 | ver Il anag 90 F2IA 6669 B ANAIQ AR 629! e AG g6 |

A, B, C, D 9e E @° 201918 99Q 6966 ?
I. A, C 9er D @° @00 601009 6208 €90 @4 |

Il. B, D 9¢r E @° @020 6Q1900% 6208 ¢80 @4 |
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C)™
D) ¥
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Section 4 - Paperl-Teaching Aptitude

No. of Questions: 10

21) Which amongst the following was prepared by NCERT in year 2005 to review and present
recommendation on status of education in India?

A) RTE

B) PoA

C) NPE

D) NCF

21) 39RYE AIQ 64T 90038 6q IRARAAGE QIS AINEER ATIQ JE RAEQ YRR AFNEI Ie* RAYITL QAR A e LA ?

»==Techofworld.In

C) ¥eda
D) ¥edva

22) Which of the following is the correct order of steps of Teaching?

A) Execution, planning and reflection
B) Reflection, planning and execution
C) Planning, execution and reflection
D) Reflection, execution and planning

22) 39Rge MIQ 696 6208 JNINIRa A0 [A ?

A) GQ199, 6AIRRI I GOTRR
B) 96a9%, 6AIRR! &° (IR
C) saieql, FIae I goaRe
D) 98099, AUIQR e 6AIRR!

23) Which of the following is the apex body in the area of teacher education in India?

A) NCERT
B) NIE
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C) NUEPA
D) NCTE

23) 69 AIQ 6096 6208 MINEea TAR Aal 68g6aR ACRIe XY ?

A) ¥adaued
B) vRueR
C) 1rgad
D) ¥rdda

24) Which was an important recommendation of the Kothari Commission regarding the status of
teachers in India?
A) Single teacher schools

B) Upgrading the remuneration to teachers
C) Teachers from local community

D) Gender equality status in teaching profession

24) 910660 980 J5Q 60R 64E 6R101Q1 2CAITR QRYYE gaIda gl ?

yeeamiena | €CHOTWOTrId.IN

B) dsaqie@ @aqIg Ae1aas @A
C) 9710 agQiae daeqes

D) dsieie 9@6a Actae anirel §6

25) Which of the following project is suggested by Kilpatrick?

A) Constructive project
B) Simple project

C) Social project

D) Complex project

25) 3RaISe FORYe ges AUQ 6RAE AR aINE 6QRZI6R ?

A) S0890@ ge8
B) Q9% ge®
C) anISe ges
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D) 6% gee

26) LAD is

A) the innate ability in every child to develop grammatical principles
B) the sociologial development of grammatical knowledge

C) the cognitive development of a child aided by culture

D) the philosophical bent of mind acquired through religion

26) 904G 6208

A) 40866 790 318 Al geia 890 28526 QT
B) UIR0660 8IRQ ANITR ARl8

C) 9906 QoI AR gIg 89R MIRGS FaI8
D) FIRQ QIHAQ 671G Fl ARIACE AR @G

27) The mental power which consist of learning, retaining and remembering what has been
previously learnt is known as

vaenin Tachofworld.In

C) perception
D) forgetting

27) q19de a9 a9l ¢RI, ¢RI e 9IQ IRl FUARE OIRl N6R QYS! AR REIGE |

A) e
B) 96
C) ¥l

D) gael

28) Transfer of information from short term memory into long term memory is done mainly in which
of the following terms?

A) Image

B) Sound

C) Structure

D) Meaning
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28) g8 daI@ 95Q 1dRIRIR Q8 9] 900! YIRISA e FIRY IRgER FRIQ 6RUE6R RAIAN ?

A) 9688
B) 6%
C) so®
D) &éd

29) As per the University Grants Commission Act, 1956, the Commission shall consist of a Chairman,
a Vice-Chairman and

A) Nine other members
B) Eight other members
C) Eleven other members
D) Ten other members

29) QYRR 2AQQIQ 2SI 2R, € ¢8I 2AQAIA 2ICAIT F66l 2D, R6E AARIV IQ° ILIQ° 677 G10C 624!
@oQ

A) 204 Q2 @6 QY TeChOfWO rld 4 I n

B) a1qy 210 @4 Q@Qy
C) 21qy 9olia @6 QY
D) 20y @8 96 QY

30) A classroom management technique in which a teacher establishes a consistent daily routine
that begins as soon as students enter the class is referred to as

A) writing routine

B) entry routine

C) seat signal

D) applaud up

30) 9@ 6géNge IAQRR RS 6ALYER FEE ZRIAR IR AR 6FFRR AIMIRA 2QA O3 AIR| VIGAIES 64€16Q J6ad @A AL 2Iea
249 0l9l 6208

A) Gecai sagel
B) 96@6a dqed
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D) @96I% 624!
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Section 5 - Paperll-Odia Language

No. of Questions: 15

31) F6QIV AR AILIQ AITIQ 6F1RR QU AILER J2§ FQAUAN?

A) og
B) 4@
C) aa
D) Qi@y

32) ‘gqa’ ar6a 694 aA6 Q4eQE ?

A) @
B) @@
C)«
D) ©

33) 699 99Q 6A16QA IF1 62910 YORI AIER VIRIQ ¥'E QRIAN?

- Techofworld.In
C) qau
D) qio@

34) ‘2Qa’ 9ea FAQIGIdcae 49 @I |

A) feR
B) @aa
C) feq
D) seczeq

35) 42 QU9 *F6M @6 97
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A) aqq 28

B) a0 Q@ Q9e1a |19
C) aea 2@Re 218
D) aea Q@i
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36) 632 QIAIRIER 2QAR(:°) B 9RIQ(HY F'§ QRIAN?

A) 2R0IY @4
B) qa@

C) §-9@

D) Quane &8

37) ‘@fne’ 206 Qe dR6Q 694 dIQ MNRQE ?

»= Techofworld.In

B) 9@,
C) o9
D) I

38) ‘@liaqie G& e’ 9fe 2d Feae ea |

A) Owel @Gal

B) @i @G

C) 48 «idel

D) 2@e9ia eg QR0 QPRI AR

39) ‘QauR1a @al’ 2dq IS QAR 9F FQ0E @a |

A) zael @2l

B) @asral @ai
C) &l qa

D) 2xIasdel G2l
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40) Y68QY 660 VVNER D ?

A) ¥
B) 8
C)s
D) r

41) ‘eaeiel’ aea YAQIGIdeare 60 QI8 |

A) ¢

B) @8@
C) zyeial
D) #Ree

42) 6919 FRIQ 6RLE IR 97 AAIA FIR AQ?

veen Techofworld.In

C) qaiee
D) g&e@

43) ‘e10’ 2dea ‘99’ goia AUIAINYR! 4984 QI8 |

A) 67680

B) aicaa
C) sd8sma
D) aigeaa

44) 999 QQIg QF - 69¢ITE 9% @ AQ?

A) Qeu0 6886
B) adqigeion 36896
C) gaQioa 6494
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D) G686 6896

45) ‘QdIe’ §9a AR IR QIS |

A) saise

s | @chofworld.In

C) an@
D) @%@
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Section 6 - Paperll-Mathematics

No. of Questions: 15

46) What value of x satisfies the equation 4x + 5 = 25?

A) 4
B) 5
C)6
D)7

46) @ @ 60@ AR 4x + 5 = 25 anieaaq A0R @4 ?

A) 4
B) 5
C)6
D)7

47) What is the area of the equilateral triangle whose side is 6 cm?

wewsaen Tachofworld.In

C) 18V3 sq.cm
D) 243 sq.cm

47) 9@ Q09I GRRQ 68QTR 666 629 AIRIA QIP 6208 9 6aF ?

A) 9V3 od caf
B) 18 «d 6ad

C) 183 ed 6ad
D) 24V3 ¢ sad

48) Which of these numbers is exactly divisible by 2/3, 1/2, 3/7, 4/11 ?
A) 10

B) 11

C)12
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D) 14

48) <@ reugEe auQ 6a¢6 2/3, 1/2, 3/7, 4/11 Qo1 ADWIE 369 6208 ?

A) 10
B) 11
C) 12
D) 14

49) What is the total amount a person gets,when an amount of 15,000 is invested for 1 year at 8%
per annum compound interest? [Note: compounding is done quarterly]

A)  13,363.48
B) ¥ 14,238.48
C) % 15,236.84
D) % 16,236.48

49) @6a @48 T 15,000 1 od aigl 18 8% 0QQ8 QM 206a FF6AIT 03, 6062 6 AINYR AYAIA AUF 6260 629 ? [ ORI :
6GAIAR QIce 0QQf FalaInaN

A eiusass Techofworld.In
C) ¥ 15,236.84
D)X 16,236.48

50) What value of x satisfies the equation 7x : 56 = 1 : 8?

A) -2
B) -1
C) 1
D) 2

50) e eed QIR 7x : 56 = 1 : 8 aeaaq 0K @dia ?

A) -2
B) -1
c)1
D) 2
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51) An equilateral traingle is inscribed in a cirlce of cirumference 161 cm. What is the area of the
triangle?

A) 48V3 sq.cm

B) 963 sq.cm

C) 64V3 sq.cm

D) 363 sq.cm

51) 9@ a0QIg §QF 9@ QA6 29RFE 62100RT AIRIQ OAT 6208 ¢ TT 627 | §QRQ 68QTR 6960 629 ?

A) 483 o4 cad
B) 963 ad saf
C) 64V3 ad 6af
D) 36V3 ad ead

52) If the sum of two numbers is 50 and the H.C.F. and L.C.M. of these numbers are 2 and 312
respectively, then the sum of the reciprocals of the numbers is equal to

A) 50/156

sz | echofworld.In

C) 36/624
D) 156/50

52) ad @b eaie 20§ 50 e aaig ve° eaIg aaIRen 2 ¥e* 312, 6060 TeYIgFea QI0ede ANg vl a8 aAIR

A) 50/156
B) 25/312
C) 36/624
D) 156/50

53) Rajesh bought a car for ¥ 6,50,000. Its value depreciates at the rate of 10% per annum. He
wishes to sell the car after 3 years.The value of the car after 3 years is

A) % 4,37,850
B) % 4,38,750
C) % 4,45,570
D) % 4,73,850
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53) aieea X 6,50,000 sa 9@ qie 38zea | w2io 94 8@ 10% 21060 21Q 29162 3 od 960 QIR 380 *GRIQ 0l @051 3 od
64 RI0Q Y 6208

A) % 4,37,850
B) ¥ 4,38,750
C) % 4,45,570
D) % 4,73,850

54) If 2x+3y-5z=0 and 3x+4y-7z=0, then the ratioof x: y : z is

A) 1:1:1
B) 1:2:2
C)1:23
D) 1:1:2

54) 0 2x+3y-5z2=0 e 3x+4y-72=0 94, 6062 X : Y : Z @ UQAIO 620

vt Techofworld.In

C)1:2:3
D) 1122

55) Who was the German mathematician who developed the "Theory of sets"?

A) Herman Gundert
B) G.H.Hardy

C) John Venn

D) George Cantor

55) sadl edie ador ‘26a 2T 6ac” Q §ed0 QAR ?

A) 26919 g&¢
B) §.10.21¢
C) 8¢ 6a@

D) 8% Q4rea
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56) Three among the following four numbers are perfect squares. Which is the odd one among the
following: 15,625, 9,801, 12,321 and 3,947 ?

A) 15,625

B) 12,321

C) 9,801

D) 3,947

56) GqRge a6aIf e AuQ 6RI 6208 Tgd @d | FQRYe AuQ 6aud g aes: 15,625, 9,801, 12,321 e 3,947 2

A) 15,625
B) 12,321
C) 9,801
D) 3,947

57) What is the total number of diagonals that can be drawn inside a regular decagon?

v Techofworld.In

C) 21
D) 56

57) fafie 049e §06a fEIAIRAIQARI ATAIR @4 LU 6960 621 ?

A) 70
B) 35
C) 21
D) 56

58) There are 45 members in a student council in a college and the ratio of number of science
students to the arts students in the council is 3:2. There are no students from any other stream in

the council. What is the number of arts students to be added to the council so that the ratio of science
to arts students in the council becomes 9:8?

A) 3
B) 6
C)9
D) 12
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58) 1@ asaeea 8¢ 08e26a 45 96 20y 285 ¥e* GEQ I BIRAIRE a0 FrIR 219 2QaIe 3:2 | 0deea 2R 6FI6d FRIeR

glg AILIT | 0GE6R 6QIT 6RAIQ 2RI AP FIGAIRE T 6A6O 629, AATVER AARR Q9! BIGAIRS AL FRIR FSAINTA QAR
9:8 62e 7

A) 3
B) 6
C)9
D) 12

59) If the number of proper subsets of a set is 4095, then what is the cardinality of the set?

A) 10
B) 11
C)12
D) 13

59) ad 1@ 626 @ 2aYS A26A6 eyl 4095 cRIRaIN, 6669 6Q¢ Q RTRIRT 6260 629 ?

»v“Techofworld.In

C) 12
D) 13

60) What is the value of the following expression after simplification?

Expression: (45/2-44/2)+(43/2-42/2)+41/2

A) 1,685
B) 1,825
C) 1,855
D) 2,025

60) Qariead asa R9Age aeIFa FIR 6R6Q ?

20e4Q: (4572-4412)+(4312-42/2)+4112

A) 1,685
B) 1,825
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C) 1,855
D) 2,025
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Section 7 - Paperll-Social Science

No. of Questions: 15

61) Precipitation is any form of water particle, whether liquid or solid, that falls from the atmosphere
and reaches the ground. Which of the following options is NOT a type of Precipitation?

A) Snow

B) Hail

C) Drizzle

D) Sea breeze

61) Q8aI6 6208 @@ *8QIQ 60 6R16T gRIRQ 00R @Al @0R, ARl IGNERQ ¢ fica adaN | FQRYe FeegFe AUQ 6UT
98QI0Q 9@ gRIQ Q6% ?

A) @aQI8
B) quiaae
C) ¥19qd
D) 49Q ae®

62) Which among the following options is the thickest layer of the earth's structure?

s mercoe Techofworld.In

C) Crust
D) Outer Core

62) fqRde Geegde ANIQ 6249E QIR F0RA 671G 3R ?

A) Goq 6999 287
B) aigiae

C) ga

D) QIgy 6299 25a

63) Indian Constitution introduced which of the following systems of Government in India?
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A) Presidential
B) Parliamentary
C) Dictatorial

D) Military

63) S1e01a QAR NG ARIET FORYE ANRIOT AUQ 694 YaIN g Gl ?

A) Qa1
B) a*ae1a
C) veag

D) ainae

64) As per Vedic literature, which among the following options refers to "Anuloma"?

A) The marriage of a man from the higher caste with a woman from the lower caste
B) The marriage of a man from the lower caste with a woman from the higher caste
C) The marriage of man and woman within the same caste

D) The marriage of a man and a woman with different castes but same gotras

64) 632@ AIFSY AQQAIN, FIRYE FRAYRR IR 63T "AGERIA" @ YOS R6Q?

A) ¥R @2 RIFQ JeAE AZC F6dl 7Y IR NERIF FRI2 TeChOfWO rld . I N

B) &9 9150 966 Qa& A0 @ Qe FI6a AERIE SQIe
C) aqIe QIS A6a 9d 6 Q18 dQIe

D) QqIe 6018 @3 G4 SI5Q 9aa 9e° ALRIE AIEa QQI2

65) India's global ranking in the generation of e-waste is

A) Fifth

B) Second
C) Third
D) Fourth

65) 2-9649g QU NAGR FFINNA ARSI 6208
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A) ereq
B) 4o
C) eo10

D) ogel

66) Which among the following options is a rigid, rocky outer layer of the earth, consisting of the crust
and the solid outermost layer of the upper mantle?

A) Mesosphere
B) Lithosphere

C) Asthenosphere
D) Biosphere

66) GoRde Gergde AuIQ 69U QIR Y@ R0R, A QI 39, YO I AAR 6ARR FOR VY 30 671 606 ?

A) 6762R9Q TeChOfWOrId ; In

B) Asa@daQ
C) 26g60139Q
D) Qle2RaQ

67) The 42nd Amendment Act of 1976, transferred how many subjects from the State list to the
Concurrent list?

A) Four
B) Six

C) Nine
D) Five

67) 2099 Q¥ 9 0A TEARIR AYFAN, QIRY IRRIQ 6260IF QG@Q Q AAFe CIRRIER ZIRISQ 2RI ?

A) Q@
B) 82
C) *2
D) are
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68) Which Amendment Act reduced the voting age from 21 to 18 years?

A) 60th Amendment
B) 61st Amendment
C) 64th Amendment
D) 65th Amendment

68) 6a4 TeAIR YFANER 6RAITERR QAAQ 9 ¢ Q oI € QA FAIAIRAN! ?

A) 9o QF FEARIR
B) IR TeaRIR
C) ¥ Q7 FealR
D) D8 Q7 FealR

69) The Tropic of Cancer, Tropic of Capricorn, and the Equator, all the three pass through which of
the following continents of the Earth?

verre —Tachofworld.In

B) South America
C) Asia
D) Africa

69) ade QI3, 1ea QI3 Ie* §erl 6o, 98 H60IF 9ae1a FIRYC ARicea AuQ 6edE coa 66 edaN ?

A) 96qia

B) @84 zi6Aae
C)

D) udel

70) In which year was the Quit India Movement launched by Mohandas Karamchand Gandhi?

A) 1946
B) 1942
C) 1939
D) 1940

70) sad ed6a 6A12991A FRAGR CINE QIO NINE G AICRIPR AT 62N ?
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71) "Vedanta" is the another name of which of the following options?

A) Mahapuranas
B) Puranas

C) Upanishads
D) Vedas

71) FORNYE FRYER RIQ 6RAER AT 6208 ‘63QIS" ?

veass Tachofworld.In

B) gaié
C) @afeaqe
D) gq@

72) The UN Climate Change Conference COP-25 (December 2019) under the Presidency of
Government of Chile was held in

A) Washington, USA
B) Madrid, Spain

C) Santiago, Chile
D) Paris, France

72) 3@ qeQies 2U80I6a FR6 RIGTras 29919 96 afer1 3sd-25 (Gsana 2019) voisa 2980 21RaRl

A) gi&reR, a6adel
B) AIQQ, 629

C) ardaisal, o
D) udQ, aIg

73) Which of the following options are TRUE about the members of the Rajya Sabha?
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A) The members should be at least 35 years old

B) President of India nominates 14 members to the Rajya Sabha

C) President of India nominates 12 members to the Rajya Sabha

D) Nominated members are not entitled to vote for Presidential election

73) AqRYe FeeQFe MUQ 6RUE AINIANAQ AQANIRE FTACR AGY A6E ?

A) QQQIAIER LERACA NS Ad 620! AR

B) 91000 QIAE QIRIANIER ¥ K6 APAIF ACRIRTG @6D

C) Q000 QI8A6 QIRIARIER © 9 RE AQAIG ACRIRIG RS

D) A6RIRI6 AQQIAIER QIS RO A 6RIG 6QIQ ARYRIQ AASB RIT

74) Read the following statements and choose the CORRECT option.

()The Antimeridian is the +/-180 degree line of longitude, exactly opposite of the Prime Meridian.

(i)The Prime Meridian and the Antimeridian divide the Earth into Northern and Southern

Techofworld.In

A) (i) is TRUE and (ii) is TRUE
B) (i) is TRUE and (ii) is FALSE
C) (i) is FALSE and (ii) is TRUE
D) (i) is FALSE and (ii) is FALSE

74) 3qRge GRQEIGPR aeg e a0e des QI8q

(Q) 2reenddaR 6208 QAAIQ +/- ero &gl 6adl, ARl 9 Adae O Faale
(2Q) Qe QAR 9 APFEARGEIR YYNIQ ARQ IS 288 6AIAINER TN @03

A) (2) QB4 266 e (aa) AN 26T
B) (a) Q04 2169 ve (aa) 2AB4 26T
C) (a) 224 26% ver (aa) AN 26T
D) (a) 2964 26S e (aa) AASY 2A6S
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75) In the 1937 general elections, in which province did the INC NOT get absolute majority?

A) Assam
B) Madras
C) Punjab
D) Central Province

75) e ¢mo ARIGE FRSRER, 624 J6RE6Q ANIRT T4 THIGRIO! QBRI RIF ?

v Techofworld.In
C) aaie
D) 6@Q1G geQd
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Section 8 - Paperll-Science

No. of Questions: 15

76) Which among the following reaction takes place in anode or cathode of a galvanic cell?

A) At the cathode: Zn - 2e — Zn?*
B) At the anode: Zn - 2e — Zn?*
C) At the anode: Cu?* + 2e — Cu
D) At the cathode: Cu - 2e — Cu?*

76) GqRYe goRAIQER AUQ 6R6E AINNIAR 6RITQ ZIRIC AR RYICAER 4 ?

A) queaie 6a: Zn - 2e — Zn?*
B) zicie 6@ : Zn - 2e — Zn2*
C) zirie 6@ : Cu2* + 2e — Cu

D) qusaie 6e: Cu - 2e — Cu?*

77) What happens to the density of solids showing Schottky defects?

A) Density increases T h fW I d I

B) Density does not change e C O O r & n
C) Density decreases

D) Density decreases upon heating

77) a§ QF 62¢10gel 0 9961 @'a 297

A) 99061 g8 aigaid

B) @e6l adede 24 @@

C) aeel @fiar

D) 669 6241 466 ARG @AAN

78) A car is moving with initial velocity of 10 m/sec with acceleration of 8 m/sec?. How much distance
it would cover in 40 seconds?

A) 3200 m
B) 6800 m
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C) 6400 m
D) 4000 m

78) 661G Q19 8 m/sec? @ Q@€ AZG 10 m/sec IAAR AA6R96Q 61 @8 1 40 6A6RLER 12| 6R6C GG
UGN @QQ ?

A) 3200 m

B) 6800 m

C) 6400 m

D) 4000 m

79) The longest stage in the cell cycle is

A) Anaphase
B) Prophase

C) Interphase
D) Telophase

79) 6218 98 AQ0IQ AN A 6208

vaeeae  Techofworld.In
B) 6gicra,

C) groqeae

D) 6C6RIETR,

80) Which of the following is also known as Sea grass?

A) Eichhornia
B) Hydrilla
C) Zostera
D) Utricularia

80) 39Rge MrIQ Q4T AYQ A ANEQ 12l REIGEI ?
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A) ziaseidal
B) 2aga

C) exicqal
D) 98qaidel

81) Which among the following chemical reaction occurs when 3 parts of HCl is mixed with 1 part of
HNO3?

A) 3HCI + HNO3 — NOCI + 2H20 + 2Cl
B) 3HCI + HNO3 — NO + 2H20 + 3Cl
C) 3HCI + HNO3 — 2H20 + NOCls

D) 3HCI + HNO3 — HCIO + 2CIO + NH3

81) 49Rge QARG goRAI AUQ 6966 99 60606262 108 @ 3 2ra Iae, @ 1 2ra afe e g9?

A) 3HCI + HNO3 — NOCI + 2H20 + 2Cl
B) 3HCI + HNO3s — NO + 2H20 + 3Cl
C) 3HCI + HNO3 — 2H20 + NOCls

D) 3HCI + HNO3 — HCIO + 2CIO + NH3

82) Which of the following cation to anion ratio for solids is forming octahedral geometry?

A) 0.414 - 0.732 TeCh OfWO rl d n

B) 0.155 - 0.225
C) 0.225 - 0.414
D) 0.732 - 1.000

82) AR aidl 2190 2gaIeq F9AYe RIEEAR ARIQ 694E 2R RUIAS Q8 @eF ?

A) 0.414 - 0.732
B) 0.155 - 0.225
C)0.225 - 0.414
D) 0.732 - 1.000

83) What is the accleration produced by a Force of 16 N exerted on a object of a Mass 2 kg?

A) 6 m/s?
B) 8 m/s?
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C) 4 m/s?
D) 2 m/s?

83) 2 kg Baa 9@ 9g QUEQ 629 62102 16 N @ gIal @QR 629! Qaél 660 26T ?

A) 6 m/s?
B) 8 m/s?
C) 4 m/s?
D) 2 m/s?

84) What is a method of sterilizing milk by injecting steam under pressure to raise the temperature
to 150 °C and evaporating the added the water?

A) uperization

B) heat sterilization
C) cold sterilization
D) dry sterilization

84) 6lacIgig 80 °a @ 98 RGQI IRl Ie* 6A Q1A AEBFR 62Q AOQ FAe FAIQ @ a8d @€l 2SS ?

Mewee  Tachofworld.In

B) q@ua aqaa
C) §16% 8qae
D) 48 @qae

85) Read the following statements and choose the CORRECT option:

(i) Peroxisomes are small and spherical organelles containing oxidative enzymes

(i) They helps in detoxification and removal of toxic substances from the cell

A) (i) is FALSE and (ii) is TRUE
B) (i) is TRUE and (ii) is FALSE
C) (i) and (ii) are FALSE

D) (i) and (ii) are TRUE

85) aqage SREIgee aeq e A0 §e8 QI8e
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(Q) 6007 6816 8 6CIRIRIA AGAR 6ANEER AFERTR 9RLIQA 214

(QQ) cI2l 6218Q a9 @Y FRQ *RER 3 FARIER AR FRAN

A) (@) 21904 266 e (aa) A4 266
B) (a) Q4 266 e (aa) 2AAGY 26T
C) (a) e (aq) 2ABY 26E

D) (a) we* (aa) Q84 266

86) Which of the following has an racemose type of inflorescence?

A) Cotton

B) Jasmine

C) Calotropis
D) Amaranthus

86) S9Age MUQ 6adTR 9@ 6QQEAIR RIR QEYR 28 ?

e Techofworld.In
C) @isaisgiaa

D) zeqieaq

87) Which formula explains the behaviour of hydrogen gas when a PV vs P curve is drawn at constant
temperature?(Symbols/notations carry their usual meaning)

A) PV =RT
B) PV =RT +Pb
C)PV=RT-alV
D)PV=RT-Pb

87) sacecase u@ PV oqia P ag 3a c1aq1giea 266 29 (961e | Q689 637N QRINE 212 927 Q6Q) 624 98 2Q6gI6ee
QUIAQ 2ICREQ QIS A6Q ?

A) PV =RT
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B) PV = RT + Pb
C) PV =RT - a/V
D) PV = RT - Pb

88) In the equation F = ma, what does 'a’ represent?

A) Torque

B) Acceleration
C) Velocity

D) Mass

88) AFIRQETER F = ma, 126a 'a’ 6966Q 0LIAR QT ?

A) 6@ Q1 2194
B) qael

C) a@sae

D) egq

89) The function of Copper IUD is used

A) stop gastrulation T h fW I d I

B) stop cleavage eC O Or B n
C) stop mutation

D) stop fertilization

89) onl Beaa @Idy 18ca Q4QLE 29

A) quiageaar oo RARI6R

B) Q4R o0 @aQ16Q

C) i66QaR @0 2QQ16Q

D) a5RIReeq eo @aI6a

90) Endoplasmic reticulum was first observed by

A) George Palade
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B) Ernst Haeckel
C) Albert Claude
D) Camillo Golgi

90) weaIRIAR 605NN Gasn YRS QIS 6QHIARSN

A) 8¢ aIRiee

o« Tachofworld.In

C) URe¢ qlae
D) @ieml 6191
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2|B 32| A 62 | B

3|D 33 |G 63 | B

4B 34| A 64 | A

o |45 35|B 65| A

6| A 36 | A 66 | B

1€ 37| D 67 | D

8| B 38| B 68 | B

9B 39| A 69 | D
10| D 40 | B 70 | B
11 | 41 | C 74 MRS
12 | A 42 | B 72 | B
13| D 43 | C 13 €
14| A 44 | D 74 | B
15 | € 45 | A 15 | €
16 | B 46 | B 76 | B
17| B 47 | A 71 | €
18 | € 48 | C 78 | B
19| A 49 | D 19'[:€
20| D 50| C 80 | C
21| D 51 A 81| A
22 € 52| B 82| A
23| D 35| D 83 | B
24 | B 54| A 84 | A
25| A 55|D 85| D
26| A 56 | D 86 | D
27| B 57| B 87| B
28| D 58| B 88 | B
29| D 39| € 89 |D
30| B 60 | C 90 | C
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